1/ do/dsum p_ [GeV]

Ratio to CMS

T

=

=
<
I

1072

[EEY

0.5

900 GeV pp Underlying Event
i L A B B B | | | | I B I B I
- Sum(pT) (pT > 3) .
B e

\\ "'.’
| m CMS SN |
— --3-- Herwig 7.2.0 default B —
~ —— Pythia 8.186 default ~
e ¢ Sherpa 2.1.1 default g
El | | | | | | | | | | | | ) | | | IE
:l T T T T | T T T T | T I“"‘- T T | I:
— ¢ -
- : e .
i o ]

| " 1 1 1 1 " | " 1 1 1 1 | " 1 1 " 1 " 1 " |\\\ M 1
0 5 10 15

sum p_ [GeV]

Rivet 3.1.0, = 6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


